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defining relative clauses. According to Thomson and Martinet (1986), this type of relative clause describes “the
precedingnoun in such a way as to distinguish it from other nouns of the same class”. They are "essential to the

clearunderstanding of the noun”. In technical contexts, they are commonly used in definitions:

e.g. A pressure cooker is an airtight container,

e.g. Alaboratory is a place which is equipped for the performance of tests and experiments.

which cooks food in much less than the usual time.
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non-defining clauses. These are used after nouns to give more information about them. They are not
essential to the clear understanding of the noun, but add descriptive detail or explanation:

e.g. The flame must be heated to a certain remperurme,w/hfch varies according to the substance used.;.

e.g. Laser light,

which has
(I

h frequency, can carry many more information channels than microwaves.
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connective relative clauses. These do not add further detail to the noun; neither do they define it. They

areusually placed at the end to make a comment on the idea presented in the sentence, or, as Thomson
and Martinet putit, to "continue the story". (p.88).

e.g. Lithium batteries are extremely light,,which explains their suitability for use in small device
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The pronoun ‘that’ in a relative clause is
never used with a comma to separate it

fromthe noun. Itis always a defining
relative clause.
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Reduced relative clauses are quite commonly used in academic writing.
This sentence, with the relative clause in the passive voice:

A bridge is a structure which is built to carry a road across water. removed to create a
reduced relative clause.
The past participle form
ofthe passive verb is

retained.

can be reduced to:
A bridge is a structure built to carry a road across water.

Another type of reduced relative clause is for verbs in the active voice. This sentence:
One of the components which belongs to Module 3 has been changed.

can be reduced to:

which has been
removed and the
activevoice of the verb
in present simple tense
has been changed toa
present (ing) participle,

One of the components belonging to Module 3 has been changed.

Common error

The most common error in reduced relative clausesis usually
madein the principal verb of the relative clause:
A bridge is a structure *build to carry a road across water.
One of the components *belong to Module 3 has been
changed.





